—_ =

FR2 2FRMEBRESERDIRET - WP LTSS
(e & 5 >~ * » 7]

@

<NR=RI2=09> BYI9F14=> <iRig>

;33 ETAEIET XEOM |[: K& gg [ =i’ (m) |IE K& g8 | @i’ (m)
X BFATE| 13.99 1 1k mEmE| 11040 |1 [IES BP9 T 109.46
BE EERE| 1401 2 AR /A 10785 | 2 X BFY T | 109.27
% H ] 14.19 3 A W 107.33 | 3 HH = 2| 108.52
el NE 14.22 4 ED med | 10578 | 4 B =@ | 108.50
E B 14.24 5 ¥H HmEREE| 10461 |5 B ¥ mEd | 108.14
=4t med 14.31 6 &5 A 10439 | 6 TR mEmEEl 10782
ety BFTZE| 1432 7 B4 INRETE| 10370 | 7 FEH EEMEE| 10769
K g 14.38 8 INEE A H 10358 | 8 &l BER 107.20
HIH INDETE| 1438 9 BaA 7] 10345 |9 N ;th A 106.53
| INAE 14.46 10 St H BP9 T2 10250 |10 BT INAE | 106.39
I ES HAL 14.46

O O 00 00 N O O b W N —




